Mass

***USE A METRIC TONNE = 1000kg

Name:

Date:

1. How many kilograms in 1.25 tonne?

O 125 O 1250
O 125 O 12500

2. There are grams in 0.75
kilograms.

There are 16 strawberries in the basket.
**total weight = 410g
**basket = 90g

3. What is the total weight of the
strawberries?

O 320g
O 410g

O 500g
O 90g

. What is the average weight of
each strawberry?

O b5.6g
O 31.25¢g

O 25.6g
O 20g

5. Approximately how much would 16
apples weigh? A50g A100g

weight of animals

h

Ay
iy

772kg 195kg
27kg 125kg 74kg

6. How many pigs weigh the same as

an elephant?

O 62
O 63

O 64
O 65

7. In tonnes the difference in weight

between an elephant and a giraffe?

O 3.89 O 0.389
O 3890 O b.434

8. What is the combined weight of

all the animals?
O 585.5%
O 5.885kg

O 58.55t
O 5855kg

9.

10. %Tonne + 3.7kg

3.052tonne + 634kg + 8000g =

kilograms

- 5700g =

kilograms

O O
2660g 2850g

O O
3040g 3230g
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